Seat No. / Enrolment No.:

GUJARAT TECHNOLOGICAL UNIVERSITY

Diploma Engineering — SEMESTER - 3 (NEW) - EXAMINATION - Winter-2024

Subject Code: 4331603 Date: 07-12-2024
Subject Name: Database Management
Time: 10:30 AM TO 01:00 PM Total Marks: 70

Instructions:
1.  Attempt all questions.
2 Make Suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4.  Use of simple calculators and non-programmable scientific calculators are permitted.
5 English version is authentic.

Marks

Q.1 (a) Explain three-level database architecture. 03
Usll () Three-level 321A» w152 5UA Yuoxtdl 03
(b) Explain Total Participation and Partial Participation with example. 04

(W) Gelsl 18 Total Participation U Partial Participation AHod). oY

(c) Explain advantages of DBMS over file management systems. 07

(5) 5166 N2 (1RH U DBMS il §14el AHdl, 09

OR

(c) List out various data models. Explain any two in brief. 07

(5) [dlan Se1 Hlseuedl ALEl letlcl. s1EULL o o gsHi Ml 09

Q.2 (a) Explain Mapping Cardinalities. 03
usl?2 () AL sLSeL@E]1 yHomd). 03
(b) Explain Outer Join operation in Relational Algebra. 04

(1) Relational Algebra Hi w132 %1&)el HTU2lel UHd), oY

(c) Explain concept of Specialization and Generalization with example. 07

(5) Specialization Wl Generalization il concept <l GelsW U 09

YHodl,
OR

Q.2 (a) Explain different types of Keys in Relational Algebra. 03
U2 (¥) Relational Algebra.Hi keys «il [d(dd WsI] qH2x1d). 03
(b) Explain types of attributes in ER- diagram with suitable example. 04

(W) AWY GElEWL A1 ER- SIULAIMH| attributes sil USIRL AH1dl. oY

(c) Explain SELECT, PROJECT, UNION and SET-INTERSECTION 07
operation with suitable example.

(5) SELECT, PROJECT, UNION sl SET-INTERSECTION #|U3Qlslsl 09
A9 GeleWL A1 YU,

Q.3 (a) Differentiate Primary Key and Foreign Key constraint. 03
U.3 () Primary Key W Foreign Key constraint ol ¥{EI| 5. o3
(b) Explain DUAL table and SYSDATE with example. 04
(W) DUAL table 4ol SYSDATE Gels0l 18l Huldl. oY
(c)  Write SQL queries to use various numeric functions 07

(a)Display integer value of 125.25.
(b)Display absolute value of(-15)
(c)Display ceil value of 55.65
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Q.4 (3
usl4 ()

(b)

(d)Display floor value of 100.2

(e)Display the square root of 16.

(F)Show value of e3.

(g)Display result of 12 raised to 6.

(h)Display result of 24 mod 2.

(i)Show output of sign(-25), sign(25), sign(0).
(alat numeric functionell GUALIL $dL Hi2 SQL Uil duwl
()  125.25 o integer HEU £2L[d)

(b)(-15) <] absolute He ¢.21ld
() 55.65 «il ceil «{l ($Hd ¢2Lld)
(d) 100.2 o s\ Y& ¢.21ld)
(e) 16 < a2y £2Lldl.

(f) e3 ofl [(5Hd tididl.

(g) 12 raised to 6 ¢2L1d.

(h) 24 H1S 2 ol URQLIH e2Lld),

(i) sign(-25), sign(25), sign(0) ﬂNl@a‘ﬂ_\a wdldl.
OR
Explain Unique and Check Constraint with suitable example.
19 BelsWL UL Unique UHIA] el Check U1l
Explain structure of PL/SQL block.
PL/SQL ¢dl5eil 2¥ell qHom1d).
Consider the following table and solve queries:
BRANCH (branchid, branchname, address)
EMPLOYEE (empid, name, post, gender, birthdate, salary, branchid).
I) Create the BRANCH table with branchid as PRIMARY KEY
I1) Create the EMPLOYEE table with empid as PRIMARY KEY
and branchid as Foreign Key referencing branchid of
Branch table.
I11) Find all employees working in the Ahmedabad branch.
IV) Find all employees born in 1998.
V) Find all female employees with a salary more than 5000.
VI) Find the address of the branch where Ajay is working.
o{1Qell tables o1l UH1GL Ul 4 53
BRANCH (branchid, branchname, address)
EMPLOYEE (empid, name, post, gender, birthdate, salary, branchid).
) PRIMARY KEY d3l% branchld 18l 6ils 24d teild]
1) EMPLOYEE 2¢{€éal Ylel[Ms Sl dil% empid 18 Goild] wa
6lled 204@efl branchid §13¢1 §1 35231 13 Wetldl.
1) HHELALE AWM SIH Sl dHIH sHALZIALA 201k,
1) 1998 Hi %eRdl dHIH sHUIZ1A1A 2114,
V) 5000 €l dy UdR HRAdAl dHIH Hlsdl sHUIRIA
21l

VD) A R SIH S O d 2lludle At LAl
Explain Referential Integrity with suitable example.
A1 GeleQL U1 3ge21ud 82312l yuomdl.
Differentiate Partial and Full Functional Dependency.
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(215 W AYRl Functional Dependency A €1 53).
Explain 3" Normal Form with example.

GelsWl 18 -+l Normal Form uHo1d).
OR
Explain Importance of Normalization.
A\ 18 B QUste] Hecd YHotd).
Differentiate Prime Attributes and Non-Prime Attributes.

ULeH A (26424 Wal allot-UIoH W [20y2ya M| 53,
Explain 2" Normal Form with example.

2" Normal Form G&L&1L 418 YHosidl.

Explain Transaction states with proper diagram.
2lodsRUet 224el ALY SIUIAIM 18 Huomdl.
Explain any two DDL commands with a suitable example.

$16UQL & DDL commands < 419y G162l A2 Y1),
Explain ACID Properties in detail.

ACID eyl (GatddlR uuexdl,
OR
What is two phase locking technique?

two phase @151l 25(5 ¢ B2
Explain any two DML commands with a suitable example.

S16URL 6l DML ¥ [2201a Y12 GeleWL U1 qH1d),

List problems of concurrency control and explain any two in detail.
concurrency control oil AHRUIRANAL ALE] oioild) wWal 51Ul A
(Aord iR dHendl.
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